B.A./B.Sc. Part III (Honours) (1+1+1 Pattern) Examination, 2020
Subject: Economics
Paper: VII
Time: 2 hours Full marks: 50
The figures in the right hand margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable.
AfEIETET FeTefT 99T T
AT FTET [eerT ©IRF Cod 70 2/
Write the answer to questions of each Half in separate books.
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First Half
aig
(Econometrics and Quantitative Techniques)
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1. Answer any three questions from the following: 3x5 = 15
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(a) Briefly explain the difference between Stochastic and Deterministic model.
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(b) Show that TSS = ESS + RSS ; Where TSS= Total Sum of Squares,
ESS = Explained Sum of Square and RSS= Residual Sum of Squares.
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(c) Derive the OLS estimator of the slope coefficient in a two variable linear

regression model.
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(d) What do you mean by Autocorrelation? Briefly mention its sources.
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(e) State the basic arguments of the Domar Model.
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2. Answer any One question from the following: 1x10 = 10
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(a) What do you mean by the problem of Heteroscedasticity? Mention its

consequences while applying the OLS method.
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(b) What do you mean by Multicollinearity? Mention its consequences while

applying the OLS method.
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(c) Derive the time path of income in the Multiplier- Accelerator Model.
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Second Half
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(Public Economics and Environment Economics)
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1. Answer any three questions from the following: 3x5 =15
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(a) What are the three bases of public Finance? What do you mean by public

Debt?
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(b) Explain the advantages and disadvantages of direct tax.
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(c) Explain the functioning of Balance Budget Multiplier.
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(d) What is shifting of tax? Explain.
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(e) What is green tax? Explain.
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2. Answer any One question from the following: 1x10 = 10
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(a) Explain the relation between economic growth and environmental

protection.
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(b) Explain the pollution haven hypothesis in light of the North-South debate.
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(c) Explain why environmental Protection is necessary for sustainable

development.
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